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BMKER WREERRER (RAELIE) (FERAGESEKSEBDHEKEEERA TREHEREATE 4 Rt 443,960,000 482,427,000 92.03%
RHOKEER W RRERR (BRAETE) (FERAGMENHEHKEZAIFKBEERERRKRERLTE 4 A 97,111,300 105,556,000 92.00%
B3 EE Wk BEH—F REMEFKER-FREBRERE(HRRLWETE # 4 A 69,153,700 75,940,700 91.06%
EER3TEAD WE L AREHR ER—FAKBRESRTE 4 A 18,748,400 20,698,700 90.58%
B3 EE Wi db £ REHR BRA—MA(KERBTAR) FNSERELIAKFHEIATE b 3 Rt 89,879,900 99,157,300 90.64%
EER3TEAD g dt + REHR EA—MCRARER) P - R FE (B (R TE 4 A 15,063,400 16,659,500 90.42%
B3 EE Wi L R EHR SERERFEARRE) BHR-ReXMAE(EHIE 4 4 A 83,857,400 92,879,600 90.29%
EER3TEE IR REHR FEEXLERHARBHCSOE ARABPTLAEERER B -R2) (@HE)TE 4 X 181,182,100 199,997,600 90.59%
B EA ML AEHH ER—MAKEREHRIE 4 MR 23,939,300 26,383,500 90.74%
EER3TEE AL REHR SRERHFERRATLBRANMIEKR (BEM IE 4 A 16,865,200 18,332,600 92.00%
B EA ML AEHH E#4775 (KIER) ERAVTFUABB)IE 1 FEst 432,848,900 474,570,800 91.21%
B3 EE AR REHH MEESRR HR-REXAETE 4 A 39,293,100 43,468,700 90.39%
B EA P& L REHR WEFEER O AR RREEEBRFSHRIE i 1 FEst 223,630,000 244,768,700 91.36%
BRI EE REREIAREHR EE3125 K- REXMNR (RN IE 3 5 102,179,000 113,188,900 90.27%
B EA P& REHR FEHIIEBCAIRE (B -Re) TE 1 FEst 148,062,200 162,872,600 90.91%
BRI EE AEF LREEBEEHR WNE LATF VRIS 4 5 26,290,000 27,765,100 94.69%
B EA FFEKESEHR AMUBER THREAR TP HERERTIE(EBRRFEZD) 4 FEst 24,200,000 25,114,100 96.36%
BRI EE FFEKEEHR AMUBERY FHEARAR TP ERERTE (BERRETD2) 4 FFot 63,800,000 64,540,300 98.85%
B EA FFEKEEHR FRBFKBIEB S () ST E 4 FEst 35,046,000 36,934,700 94.89%
B3 EE FFEKEEHR REFKGERRESELIS 4 FES 10,659,000 11,587,400 91.99%
BisEE FEKESHR REFKBEBEARBEEIE(RE) 4 FE5t 10,989,000 11,572,000 94.96%
B3 EE FFEKEEHR ZEl#KSRBEARBSEIE 4 FES 17,050,000 18,113,700 94.13%
BisEE FEKESHR AUESAR THRRBEARBEETE 4 FE5t 13,662,000 14,391,300 94.93%
B3 E FFEKEEHR RFEFKHERTARBERE LS (PAC) 4 FFot 7,260,000 7,671,400 94.64%
R ZIEE FFEKESEHHR FRBKBIEBh PR S FEH T (BWSE) 4 FEst 165,000,000 171,039,000 96.47%
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B En FFEKEEHR FHRAKGREZARBER LS (PREAHHEE#EIER) 4 Rt 64,900,000 65,577,600 98.97%
EER3TEAD FEKEEHR FhRFKERELERSBRRFEERTE 4 FF5t 476,300,000 477,024,900 99.85%
B3 EE FFEKEEHR FRFKBRET A BRIEEH T (MR 4 Rt 430,100,000 450,264,100 95.52%
EER3TEAD FEKEEHR FREKEHKEERBEFEREIE 4 FE5 37,400,000 40,210,500 93.01%
B3 EE AESEEHERR PRERRBEEHRIE 4 Rt 358,468,000 389,422,000 92.05%
BER3E T KEEHR RENFEETKERRES U S—BR TR (PRERAERFEEIHRK 4 A 105,600,000 111,490,500 94.72%
B3 EE T KEF B HIGERETKERRERISE 4 A 187,000,000 198,979,000 93.98%
EER3TEE R T AEEHHR EIIARFRE T KERE M 2 —BHETE (N5FKR TR H) 4 5 98,890,000 99,449,900 99.44%
BERZIEA MR T KEEHH RN EFRFRE T KEREN LT 2— B IR (P RERUEMFSERHME) 4 X 24,640,000 25,990,800 94.80%
EREH TR T KEEHTR BIARFRRTKERSERTE (MAKILREE1 - 2ETERMBH) 4 FEst 90,200,000 91,895,100 98.16%
B EA T KEF B RBNFETKBERAR L2 —ERISE (UE R RA TR E) 4 FEst 28,600,000 30,547,000 93.63%
EER3TEE MR T KEEHH RENFETFRERRE L I—BRIE (RESBBRRF) 4 5203 19,923,200 21,655,700 92.00%
BERZIEA MR T KEEHH HINGEFRETKERRERIS (MKELREE B EHEESRMTKIERR) 4 R 319,000,000 336,983,900 94.66%
E;Egﬁﬁgﬂg BER EEARLERE PREABEREHEGENIL—VENNIE 4 5 1,175,768,000 1,297,153,000 90.64%
BET EER RERIATLE I ERBRERVSHRIE 4 FF5t 101,200,000 103,417,600 97.86%
BET XACEHR R EEXH BRK/\BEEHFEARARAFSEIEZ(BRIE) 5 ] 18,480,000 19,646,000 94.06%
BET XAERtREER B XEFALRVZEEISBRAFEEIE(FXENABRIE) 5 A 70,400,000 74,635,000 94.33%
BET XACEHR R EEXEH BRK/\BEEHFEARARAFSEIEZ(BETE) 5 FFA 38,170,000 40,348,000 94.60%
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